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PART-II
greureilwes / BOTANY

(&b LDﬁ)Q]L'D %iﬁjﬁw @JIEQ / Tamil & English Version)

&Te0 jera] : 2.30 wewtl CHrw ] [ Qurégs wHiGuaTsET : 70
Time Allowed : 2.30 Hours ] [ Maximum Marks : 70

ofleenrae : (1) <omarss edarés@pd sflurs udears erargm 6T 63T LI & G0 60T
slluTisgé Qanerarayb. SiFalUHeld GopulGLle SHms
searsrafiiuremiD o Lanqurss csflellésa).
2) Beoldb wd@g sGUY @wullamer L HCwL ergeusDEwD
93 5CE Mg (HeusHGLD LweTLHSS Ceuemm(Hib. LILBIGET UETeUSD (S
Quenfled LweTLHSSeL.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&E - I/ PART -1
GOl : ()  SimeSgl cllanmésEps@D allonweflésaib. 15x1=15
(i) Qer@sésuul(@erer IO danLsalley WEa|d ormHLeL W
MenLarwiy CaiHosds55 GIULOLE elmLulmeanyb Gaiggl
ET(LPSELD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. Epssemcupmer sMdlyrsh org ?

(=) dCumrr. - , (=),) 2 BEsEr

(&) Gumrfer () iseurGumiflen
Which one of the following is a Carrier Protein ?

(a) Symport (b) Pumps

(c) Porin (d) Aquaporin

2. @3 @0 @ramirbflow eariflas wrhpl AUIGE :
(<) pDsOMUHSET

(1) sfl bletb
() SGem 2uflevtd

(&) Cprélser
Which one is a secondary Metabolite ?

(a) Organic acid (b) Alkaloids

(c) Enzymes (d) Amino acid

3. &flwurer Gevamreni CaibOsHEsaLD.
SlenGamemm

() weumsSd Ul -
2A&CHE T QFarse

(<=1,) Gellenasen -
(@) Carbgl - AestaGomo HeorafdEsd
(FF) glum - abefwr 19CrHedlwend ehy

Find the correct pair :

(a) Cinnamomum bark

Cinchona

- Acacia senegal

(b) Quinine
(¢) Gum Arabic - Cinnamomum zeylanicum
(d) Rubber - Hevea brasiliensis

HenarsarQadley OO Hriiev swHfudemen Qeanssn Cafmob -
(=) < evéd CoA (<) ALAE @ndeip

(@) s&flallé Syflaibd () eumels uflan
The compound which links Glycolysis and Krebs cycle is :

(a) Acetyl CoA (b)  Citric acid

(c) Succinic acid (d) Pyruvic acid
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LGermuth BriseT @léueurm 2ienpésiiL@denmer :
(=1) BT 4 F&ESHsET (1,) LTGLL BIT&ET
(@) Ol HrrEeT (/) @) (penau BTiTEHeT
Phloem fibres are called as :
(a) Fibre tracheids (b) Bast fibres

(c) Libriform fibres (d) Gelatinous fibres

GEH®T WML 66l 6Vleed STaiLBL LGS :

(=1 QearedQardeor Gauflar @mé&@ CQeul Hg CoTHOLD

(=) QserQardar samear GnéEE Qeu g Cammmd

() SquraT_b Qaasstbdar GnES taulBd Campmd
(/) <nqunar b Cauflean @misE Geu B Cormmn
Horseshoe shaped stele is present in :

(a) T.S. of Selaginella root .

() T.S. of Selaginella stem

(©) T.S. of Adiantum petiole

(d) TS. of Adiantum rhizome

sriurafls iarenanl Grev Gprduder Qsweoum gnE Csmaeuwrer el :

(<=1) Fe (<) N (@) Ca (FF) Zn

Which mineral is necessary to activate the enzyme carbonic anhydrase ?

(@) Fe ® N () Ca (d) Zn
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8. Spsrarumeusefld) ergl @it DG CaufliQummer wide ?

(=) SierenCamen (<)) QeriGaremes
(@) esemen () amenavCGomeda
Which one is not an allelo chemical ?

(a) Ailanthone (b) Sorgolone

() Juglone (d) Hans Molisch

9. Gled sppAulen S Hlanaued :
(=1) &CrmGwrGsrbasafer eramanildens 9HFHLOTEGLD
(%) @euClaurm Qaeallgib o erer DNA -eflén oiemey LTHWING @Gemni b
(&) @dQeurm Qsmelad o drer DNA -eafler Sjare| @rem(® LEIETEDG
() geuCeur Qedellgb o drer DNA -eflen ierey Qsmiha) 2G5 Sjemay
OlGEICT
In S phase of the Cell Cycle :
(a) Chromosome number is increased
(b) Amount of DNA is reduced to half in each cell
(c) Amount of DNA doubles in each cell

(d) Amount of DNA remains same in each cell

10. seuprer @lenewTeniids SHevt(HLllg &EaLb.

(<) Qarflwrerit -  Lemod Fallgane

(<) Lmoflameed - RS eUigeus Fnllyene)
(@) Owrfikigr - @pwIgsE Fnllgame

(F) Sgobaflur - @GS Filgeme

Find out the wrong pair. '

(a) Coriandrum - Decompound

(bp) Tamarindus - Palmately compound

(c) Moringa - Tripinnate

(d) Caesalpinia Bipinnate
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11. ‘e ulflwedller LT eram SiwEELILH6UE :
(1) eweurre (=) peosT (@) urseflwr () Lerensser
Which one is called as a “Biological Puzzle” ?

(@) Virus (b) Algae (c) Bacteria (d) Fungi

12. sulblen el Lib 6 Syhigeld, GMipereafien Bemb 10 yBIGeLD HMILD Gday
B&THS ST 5 h@GoWLrs QMmBSTd Sroursden o amepwwra Her
eueTTESlends SHeT(H9 g &&HeqLD.

(<=1) 12 mIEGOLD (<=1) 30 SimIEGLD
(&) 3 @mEGeLD (FF) 6 SIBI@GeLD

If the diameter of the pulley is 6 inches, length of pointer is 10 inches and distance
travelled by pointer is 5 inches, calculate the actual growth in length of plant.

(@) 12 inches (b) 30 inches
(c) 3 inches (d) 6 inches

13. yeyé Qedaeorw, wssrby dsHobn, Qaaps 5 ol @SHEEHLD
Qeeurs 5 el @SPaEHD, 5 w6l QLG ETHS STETSE@HLWD, TFenD
GuAL L G&WD 2Ll @ TEFwEsmeLwu @mure weflear weoft
GO :

(1) Br, Ebrl, @, F, K5y C, A5G, (<) BBrBil © Ky Cy Ay G
TN =
(@) Br.Bil @ Q Kg Cs A5G, () Br,Bil, ® G, Ks, C5 Ag, G5

The floral formula which represents actinomorphic bisexual bracteate, ebracteolate,
5 synsepalous, 5 apopetalous, 5 epipetalous stamens, 2 apocarpus superior ovary.

N 2
(@) BrEbil, @G Kg Cyhs G ) EBUBL ®, 5 K5, Cs, As, G;

TN —
(C) BI‘, Brl, (‘B, 9, K(s), CS, AS’ G2 (d) Br/ BI‘I, @I g K5/ C51 ASI Gz_‘
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14.

15.

Aurpsg)s.

(1) SHfcvGL S @) Lol auger s6ia) GPBS e LGP

(2) ©GrmoTig.er - () urd sheTiyeL W I Gt @I mI LI

() QeudlsSersar - (ﬁi) Gb.LDI'_GL_WHSNGO:UTI;mUJW@ﬂGb 2 TG LOIGLIL|&ET
(4) ewl GLrsram flwur - (iv) .siéréjeﬁlu_! Semwlieus Qarem DNA

(1) (O-G), @-6), G-, @-Gv) (<) D)), @)-6), B)-(id), @)-()

(B) W)-Gv), @-@), B0, @-@) (7)) (Q-G), @-Gv), @)-6) @)-@)

Match the following :

(1) Cristae - (i) . Oval membrane bound vacuolar structure

(2) Chromatin - (i) Semi - autonomous organelle

(3) Vesicles - (iii) Convoluted inner membrane of mitochondria
(4) Mitochondria - (1v) Thread like structures of DNA

(@) ()-(), -0, G-, @-av) () (@O)-G), (2)-@1), @)-(i), (@)-Gv)
©  (W)-@v), -6, @)@, @-)  (d) @)-(i), 2)-{v), B)-@), (4)-(i)

o ' puuriinde sreerliumib Gasmearellg el enliLger :

(1) Gaurewrr GCFmbser " (<=1,) eol_Crmriom

(8) &lymed W () evgessmi)

Name the spherical structures fo'um?l' in the inner surface of lamellar membrane :
(a) Quantasomes : (b) Stroma

(¢) Granum (d) Thylakoid
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L@S - 11/ PART - 11

UTTSMSSEHSS T E TN

gemauCGuend Hm HarssEnsE 30
6x2=12

e wafssayd. eNerT creim 24 -&(E SCToIqLILING eflepLWafl&sHe .

Answer any six of the following not exceeding 30 words. Question No. 24 is

compulsory.

uréleflureled srarliu@b Saurdssaler cumssHer wramel ? < 6ummlev
gCsa@I Genenn eSleTsEs.

What are the types of respiration present in bacteria ? Explain any one of them.

Geveullen LTLSET Wirenal ?

What are the characteristic features of leaf ?

urpbuflu euensur®, paier euasur® - Capubssis.

»

Write the differences between Classical and Modern Taxonomy.

eramCGLTA6TTE auepe LILLD cUamphgl, UMsh GSDIESaLD.

Draw the structure of Endoplasmic reticulum and label its parts.

G; flevavuller QFevger Ll@ul_rrme'o gL LIHUSNGS ST Famis.

State the reason for arresting of cells in G; phase.

Curily ehsfsamer allensEs.

Explain competitive inhibitors.
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22,

23.

24,

25.

26.

27.

b udss i@ s LOTSSML&GE Qe b aumi@d urpg Chirsdwirer
SL_enLem creveurmy GaibOs®H LM ?

When you go to a timber mart to collect timber for the construction of a new house,
how will you select good quality timber ?

Yermeviom Fang a6 WEAUSHIeISMS 6T(LpFIS.
Write the significance of Plasmolysis.

STeUTDd A Frleni_eume Cprus, sreurd B fpdlene Crmru SICTES
CasramBereng. A, B -uler safling GODUITL g GneTds &e8TL_ .

Plant A in a nutrient medium shows whiptail disease. Plant B in a nutrient medium
shows a little leaf disease. Identify the mineral deficiency of plant A and B.

@S - I/ PART - III
sTemeuGuienid gy m derrésenéE 45 UTTEMSH@HGE Wsrned
eSlen_wiefllésalb. elerr erapr 33 ~&( SHETTILILINS aflen_wieféaseyLb. 6x3=18

Answer any six of the following not exceeding 45 words. Question No. 33 is
compulsory.

umdleflum enpLlreene BlevaoliL®ssisaer Lwersg wreney ?

What are the uses of bacterial Nitrogen fixation ?

sl (b smss saflow erOssGHM [HLan ellers .

Explain Sorosis with an example.

WCL@TD erammTed cremenm ? THSSISST_(HL 6 &(15s.

What is Umbellule ? Give an example.
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33.
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SCUCLS GHLLSHET SOBISTTS greuiyhigaeler eLp@TIl 6T @ AFTHELWTEmaT
T(PSIS.

Write three Binomial names of ornamental plants in Fabaceae family.

Wwirdl e &l eor @éaﬁ]uggmgmg (PSS

Write the significance of meiosis.

UTaled SMmeT&SsL ML GEW0, eumeTwd FlemarésL L &@LD @ enLGuiwerer
Ceumumenl_ 6r(Lp&Is.

Write the differences between Diffuse Porous Wood and Ring Porous Wood.

(21) Qeweoullen LILD euenflbgl LITELD G&D&SLD.
(<1) Qewed SiensLIL| LHMID 26D Qeeowiguer LILD GuEnTILIGLD.
(a) Draw the structure of leaf and mark the parts.

(b) Draw the structure of pulvinus leaf base and sheathing leaf base.

(=) @aﬂé&%eurrargg‘,]ém @éeﬁ]uggmgﬁmm THES.
(<=,) sCrTgensaT und Hm GOlLY uenrs.
(a) Write the significance of photorespiration.

(b) Write a short note on Carotenes.

GS/GOGAT aulfl&sL-5®S cllemd @ s.

Explain GS/GOGAT Pathway.
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34.

35.

36.

37.

U@$ - IV /PART - IV

OIS, cllaméas(emé@n 75 UMTSMS&(Eh&E WsMoe aflenLweflsseyb.

5x5=25
Answer all the questions not exceeding 75 words.

(=) Lo renad) wireen $sa5sreursHanen LiLb cuenhgl alleuféaaib.
S{eVevg)
(<) g RLOWeD eTatmred oreman 2 DiGerl eSS alleul&Eseib.
(@) Draw and explain the structure of Marchantia Sporoi)hyte.
OR
(b)  Define placentation and explain their types.

(@)  Write the simplified version of Angiosperm phylogeny group classification

OR
(b)  Explain the functions of Lysosome.

(<) DNA -aeir LiaimiSenan GT(LDGI.
{60608
(<=1) Carortiemsionr cuamssamer efleuf&sey b,
(a) Write the characteristic features of DNA.
OR
(b)  Explain the types of Collenchyma.

(1) pHmedFTIT 2 aTelem(®HLiL whHmb 2POMEd Fmryr 2 emGlem®IIy Gey
36060 g
(<) @efléCeisanauder sriLgy R0O&ES5E FHAany alllemss g,
(a) Differentiate between Active Absorption
OR
(b) Eiplain the Photosynthetic Carbon Reduction Cycle.

and Passive Absorption,
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38. (21) QuamGLreh SumavBLL eufissL sdan piduggiausdman elamsEs.
SN

(<) 2 &8len aurpeilueg® eleneraysemer oS aeuFT Sl e e pl e
Ldlenen afleré(@s.

(a) Explain the significance of pentose phosphate pathway.
OR
(b) Explain the physiological effects of Auxin and their role in Agriculture.
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